

BID TABULATION

CONTRACT NO. LIN24 127

DATE: DECEMBER 18, 2024 @ 10:00 A.M.

OWNER: THE CITY OF LINCOLN

DESCRIPTION: LINCOLN WATER SYSTEM IMPROVEMENTS PROPOSED

> WELL HOUSE AND WATERLINE **DWSRF PROJECT NO. FS010280-02**

CONTRACTOR: Farr Construction R&R Contractors

175 FMI Lane

35670 AL Highway 21 Sylacauga, AL 35151 Talladega, AL 35160

REG. NO.: 38615 **BOND:**

27335 5% 5% 10 Days

START: 10 Days COMPLETE: 365 Days 365 Days

COMPLETE:			365 Days						365 Days	
Item No.	Description of Item	Quan	Unit Price		Total Price for Item		Unit Price		Total Price for Item	
1	Mobilization/Demobilization of Drilling Rig Furnish and Install Complete Per LS	1 LS	\$	287,450.00	\$	287,450.00	\$	295,000.00	\$	295,000.00
2	24" Drill by Dual Rotary or Casing Under-Reaming from 0'-150' of Depth Furnish and Install Complete Per VF	150 VF	\$	499.00	\$	74,850.00	\$	570.00	\$	85,500.00
3	24" Casing Furnished and Installed Furnish and Install Complete Per VF	150 VF	\$	509.00	\$	76,350.00	\$	582.00	\$	87,300.00
4	Bentonite Grout Furnish and Install Complete Per VF	400 VF	\$	21.00	\$	8,400.00	\$	24.00	\$	9,600.00
5	16" Drill by Dual Rotary or Casing Under- Reaming from 200' - 350' of Depth Furnish and Install Complete Per VF	400 VF	\$	69.00	\$	27,600.00	\$	78.00	\$	31,200.00
6	16" Casing Furnished and Installed Furnish and Install Complete Per VF	400 VF	\$	436.00	\$	174,400.00	\$	498.00	\$	199,200.00
7.	16" Stainless Steel Screen with 20" x 16" K-packer Furnish and Install Complete Per VF	100 VF	\$	315.00	\$	31,500.00	\$	360.00	\$	36,000.00
8	Labor Rig and Crew for Developing Test Well with Air Furnish and Install Complete Per Hour	24 Hours	\$	394.00	\$	9,456.00	\$	450.00	\$	10,800.00
9	Furnish, Install and Remove Test Pump for Yield Test Furnish and Install Complete Per Well	1 EA	\$	13,125.00	\$	13,125.00	\$	15,000.00	\$	15,000.00
10	72-Hour Pump Test with 8-Hour Recovery per Well Furnish and Install Complete Per Hour	72 Hours	\$	368.00	\$	26,496.00	\$	420.00	\$	30,240.00

Item No.	Description of Item	Quan	Unit Price	Total Price for Item	Unit Price	Total Price for Item
11	Well House including all Mechanical, Electrical, Structural, Painting Fencing, Site work, Well Pump, Piping, Chemical feed equipment, & generator Furnish and Install Complete LS Complete	1 LS Complete	\$2,038,131.00	\$ 2,038,131.00	\$2,500,000.00	\$ 2,500,000.00
	TOTAL BID AMOUNT		ID AMOUNT	\$2,767,758.00		\$3,299,840.00



BID TABULATION

CONTRACT NO. LIN24 127

DATE: DECEMBER 18, 2024 @ 10:00 A.M.

OWNER: THE CITY OF LINCOLN

DESCRIPTION: LINCOLN WATER SYSTEM IMPROVEMENTS PROPOSED

WELL HOUSE AND WATERLINE DWSRF PROJECT NO. FS010280-02

CONTRACTOR: Hutchins Service Global Construction & Engineering

2622 Goodwater Hwy 5511 Bankhead Hwy Sylegoryge AL 25150 Birminghom AL 25210

Sylacauga, AL 35150 Birmingham, AL 35210

 REG. NO.:
 52657
 24259

 BOND:
 5%
 5%

 START:
 10 Days
 10 Days

COMPLETE: 365 Days 365 Days

COMP	OMPLETE:			365 Days						365 Days	
Item No.	Description of Item	Quan		Unit Price	To	otal Price for Item		Unit Price	To	otal Price for Item	
1	Mobilization/Demobilization of Drilling Rig Furnish and Install Complete Per LS	1 LS	\$	310,000.00	\$	310,000.00	\$	214,500.00	\$	214,500.00	
2	24" Drill by Dual Rotary or Casing Under-Reaming from 0'-150' of Depth Furnish and Install Complete Per VF	150 VF	\$	808.33	\$	121,249.50	\$	522.50	\$	78,375.00	
3	24" Casing Furnished and Installed Furnish and Install Complete Per VF	150 VF	\$	818.33	\$	122,749.50	\$	533.50	\$	80,025.00	
4	Bentonite Grout Furnish and Install Complete Per VF	400 VF	\$	40.00	\$	16,000.00	\$	22.00	\$	8,800.00	
5	16" Drill by Dual Rotary or Casing Under- Reaming from 200' - 350' of Depth Furnish and Install Complete Per VF	400 VF	\$	130.00	\$	52,000.00	\$	71.50	\$	28,600.00	
6	16" Casing Furnished and Installed Furnish and Install Complete Per VF	400 VF	\$	615.00	\$	246,000.00	\$	456.50	\$	182,600.00	
7.	16" Stainless Steel Screen with 20" x 16" K-packer Furnish and Install Complete Per VF	100 VF	\$	600.00	\$	60,000.00	\$	330.00	\$	33,000.00	
8	Labor Rig and Crew for Developing Test Well with Air Furnish and Install Complete Per Hour	24 Hours	\$	750.00	\$	18,000.00	\$	412.50	\$	9,900.00	
9	Furnish, Install and Remove Test Pump for Yield Test Furnish and Install Complete Per Well	1 EA	\$	25,000.00	\$	25,000.00	\$	13,750.00	\$	13,750.00	
10	72-Hour Pump Test with 8-Hour Recovery per Well Furnish and Install Complete Per Hour	72 Hours	\$	700.00	\$	50,400.00	\$	385.00	\$	27,720.00	

Item No.	Description of Item	Quan	Unit Price	Total Price for Item	Unit Price	Total Price for Item
11	Well House including all Mechanical, Electrical, Structural, Painting Fencing, Site work, Well Pump, Piping, Chemical feed equipment, & generator Furnish and Install Complete LS Complete	1 LS Complete	\$2,786,150.00	\$ 2,786,150.00	\$3,557,730.00	\$ 3,557,730.00
	TOTAL BID AMOUNT					\$ 4,235,000.00

I hereby certify that this is a true and correct tabulation of bids received by the City of Lincoln, Water System Improvements Proposed Well House and Waterline, DWSRF Project No. FS010280-02 on December 18, 2024 at 10:00 A.M., local time.

UTILITY ENGINEERING CONSULTANTS, LLC.

By Dave B. Bechtel, P.E.